@ -1 +1) @ (x+1)%(x-1)
® (x=1)(x+1) @ (x-1)°
® (x+1)3

B -x+1l=xx-1)-(x-1)
=(x-1)(x*-1)
— (- 12+ 1)

Lf) =(x-1D)(%-1) = (x—1)3%(x+1)
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2522 — 2482 °
@ 62500 @ 1000 3)500
1
@ 250 ® 3
10002 1000 - 1000

2522 — 2482 (252 + 248)(252 — 248)
_ 1000 1000
500 4
=500




4.

(¥ +x)(x* + x+1) - 65 A5-EoloHH?

@(x—l)(x+2)(x2+x+3) @ (x-1)(x+2)(x* +x-3)

@ x=-2)x+1)(*+x+3) @ (x-1)(x+2)(x*-x+3)

® (x+1)(x-2)(x-x+3)

@

+x = X2} 5pAk
(% ) =X(X+1)-6

=X2+X-6

=(X+3)(X-2)

=(x+x+3)(x*+x-2)
=(x-1)(x+2)(x*+x+3)




(x4 —8x2 - 9) + (x2 - )% A Atotof gt

@x2+1 @ x*-1 @ 2+2
@ x%2-2 ® x*+3

x* - 8x2 —9—( 9)(x2—|—1)
— 2t




x3 = 6x2 + 11x - 62 A5l 5FH?

O (x+1)(x=2)(x+3) @ (x-1)(x+2)(x+3)
@) (x-1)(x-2)(x-3) @ (x+1)(x+2)(x—3)
® (x=1)(x=2)(x+3)




& Al S CIA A BoRsE FohE?

2x2—-3x+1, 3x2-x-2, x2+3x—-4

@x—l @ 2x-1

@ x+3 ® x+1

B

2x2 -3x+1=(2x-1)(x-1)
3x2—x-2=3x+2)(x-1)
P +3x—4=(x+4)(x-1)
wfebd e Fopt x - 10]ek.




I ohahA] 13 32 4 2x, xt—4xd 4 4x2 O] Z| T ZeFot 2] ATl
27 f(x),g(x) 22 M, £(3) +¢(3) 2 k= 57

@ 18 @ 19 ® 20 (@)21 ® 22

¥ -3+ 2x=x(x-2)(x-1)

x—4x3 4452 = 22 (x - 2)°

Sf @) =x(x-2),8(x) =22 (x-1) (x-2)°
A fB)+g(3)=3+18=21




T A x2 —dx+ 3a+ b a2 + bx— 69] RO x— 2 o,
a+ b9l g2

D1 @2 ® 3 @ 4 ® 8

f(x) =x*-4x+3a+b,

¢(x) = 22 + bx - 6]t 5}l

f(x) 9 g(x) & BF x- 22 YrojHojz Bz
f(2) = g(2) =0°1A4
f(2)=4-8+3a+b=0,82)=44+2b-6=0
La=1,b=1.. a+b=2




10. % o34 x2 +ax + b, % + 3bx + 2a 2] HHFFF7F x -1 o,
a+ b9 g& F-5tH?

@ 2 @ 1 ® 0 @—1 ©® -2

S5 ~
A gotsrt x- 10122

2 +ax+ b2t x?+3bx+2a=

R 12 o] WojAof g,
14+a+b=0°211+3b+2a=0

o2k, a=-2, b=1

La+b=-




11. 100709 ohakd] x2—x—1, x2—x—=2, .-+, x2—x—100 =\ A A7}
ool AaAe] o ASHARHE AL BE B el7}

® 574 @ 774 @97H @ 117 ® 1371

x> —-x-n=(x+a)(x-b) (a, b = ZA) 2t oIH
b=a+1,ab=n(1<n<100)

a 12345 6 7 8 9

b 2345 6 7 8 910

n=ab | 2 612 20 30 42 56 72 90




12.

7F=2] 207} xem, A 22] Ao)7t y em, EO17F zem 1 A-sHA A
x+y+z=10, 2 +y* +22 =462 ), o] FLHA ] Aylol= &
cm? Q1712

@ 45cm? @ 50cm? @54 cm?

@ 58cm? ® 60cm?

FA (x+y+2)2 =52 +y* + 22 + 2(xy + yz + zx) & ©]-85}
Fold 215 tASHA xy + yz 4 2x =27
BYolE 2(xy + yz + zx) ©| B2 54




13. S ot 22 +3x+a, 2 -3x+09 FYEZFL7tx - 19 W), &

thatAle] AATUSE f(x) 2 Sk £(0) O] G FohE?

@)s @10 B12 @u 616

~&B

«— 10] ) Boped 5 Ao

x =12 tYdstH oo] Hrth

A:x>+3x+a Oﬂ =1& fiYstHA
1+43+a=0 ..a=-4

B:x>-3x+b Oﬂx_l%tﬂ?ﬁ}td
1-34+b=0 ..b=2

A:x?+3x-4=(x-1)(x+4)

B:x>-3x+2=(x-1)(x-2)

HaFus f(x) = (x = 1)(x +4)(x - 2) 7k Aot

f0)=(-1)-(4)-(-2) =8




14. 24ax-92 x24+bx+c 2 FE 2x2-4x-6, AT SE B3 —x2-9x+9
1
ce

olth. a—b+ o] g Fatolat. (& a, b,

> E.

> Het: 7

B

A=x*+ax-9=Gp

B=x%+bx+c=Gqze}stH

A+B=(p+q)G=2x>-4x—6=2(x+1)(x-3)

L=pgG=x3-x>-9x+9=x%(x-1)-9(x-1)

=(x-DE*-9) = (x-1)(x+3)(x-3)

oA, G=x-3, p=x+3, g=x—-1°|t}h

T A=(x+3)(x-3)=x*-9
B=(x-1)(x-3)=x>-4x+3

La=0,b=-4¢c=3

La-b+c=T7




57k 2 T TA Y Fol 242 - 80] T, HAFHLTF 4 - 262
5x+ 69 T, 5 TaHA] o] HFORAE ax+ bolth. o] W, a+ bl
are etoler

% 4 4,89 AhEIE G ol
A = Ga,B = Gb(a,b= N224)
A+B=(a+b)G=2(x+2)(x-2)
L=abG = (x—1)(x=3)(x+2)

L G=x+4+2




16. x*-11x2+19°] (> +ax+b)(X>+3x+b) 2 JAFTEANE T, a+ b
o] 27

=116+ 1= (2% - 1)2 - 942
= (¥ = 1)* = (3x)°
=(x?-3x-1)(x>+3x-1)
(x +ax +b)(x* + 3x + b)

La=-3, b=-

L a+b=-




17. 222+ xy—y? +10x+4y+ 125 x, y9 F G241 9] Ho 2 9l
SHSHH, (x+ay +b)(2x +cy +d) 7t HFL & 1), 0 +
%l°‘7(L,a b, ¢, d =)

@ 6 @7  ©)s @ 9 ® 10

B ~
2x% + xy —y? + 10x + 4y + 12 (« x°f Tsto] F2)

=2x2+ (y+10)x— (y? -4y - 12)

=2x2+ (y+10)x— (y + 2)(y — 6)

= {x+ (y +2)H{2x - (y - 6)}

=(x+y+2)(2x-y+6)

“a=1,b=2c=-1,d=6

“a+b+c+d=38




18.
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oH .

ol
rlo

A 58 ry.c7 5HE FolW 270 2R
x—|—y—|—z:0 ...... @

1 1 1 3
—db S b = = Zaaonss @
x y z 2
x2_|_y2_|_z2—1 ...... ©

(x+y+2)2=x2+y +22+2(xy +yz +zx) °|BZ
@, ©°lA 0% =1+ 2(xy + yz + zx)
1

'.xy+yz—|—zx=—§ ...... @

O DFYFX _ S na
xyz 2

3xyz = 2(xy + yz + zx)

i 1

. XYz = —g

T, 34+ +22-3xyz
=x+y+2)(x®+y*+22—xy—yz—2zx)
@A x+y+z=00]B=2

1
B4y +78=3xyz=3- (_5) = -1




19. o3 I8} o] Al Mo dolZta, b, ¢ A
Q1 AABCONA a® + b3 + ¢ —ab(a+ b) +
be(b+ ¢) = ca(c +a) = 0°] AH o,
AABC+= o8 4291712

D a— b ISRAAE @ a—cd ISRNLE
@)ia=00°A A2AE @ B=90°A A%

a® + b3+ 3 —ab(a+ b) + be(b + ¢) — ca(c + a)
=a®+ b3 + ¢ - a’b - ab? + b%c + bc? - ¢?a - ca®
=a® - (b+c)a® - (b% + c*a+ b+ b%c+ b + 2
=a*— (b+c)a*— (b + c2)a+b*(b+c)+c*(b+c)
=a*—(b+c)a®> — (b* +c?a+ (b+c)(b* + c?)
=a’—(b+c)a*> - (b +c*)(a-b-c)
=(a-b-c)a® - (b*>+c?)(a-b-c)
=(a-b-c)(a®-b>-c?)

=0

ol W, a, b, c= HAF A Ho] ZoJo]ER azb+c
L at-b2-c2=0,
=g =b% + 2
Wb, AABCE a =
Z A = 90°91 A2z ol L),

‘“ mlm
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rlo

20. a+b+c=0¥ o, tF2 =242 + be S} TFE A

@ (a-¢)? @ (b+c)? @ (a+b)(b+c)
@a-ba-c) © (a-b)a+o)

B

2a® 4+ bc =2a* —b(a+b) (v c=-a—-b)
= 2a* — ab - b?

= (a—b)(2a+b)

=(a-b)(a+b+a)

=(a-b)(a-c) (ma+b=—c)




